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%2. TRANG THAI NG SUAT PHANG :

2.2 Cuwrc tri cua tng suéf phép 2.2. Extremes of normal stres.s
va rng suat ﬁép_- and shear stress?
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- Bai tap 1:
1 Cho trang thai ¥ng suat phang nhy hinh v&, xac dinh
- (a) cac mat chinh? (b) tng suat chinh, (c) tng suat
L tiép lon nhat va tng suat phap trung binh.
‘—f ——ry Problem 1:
- For the state of plane stress shown in Figure,
determine (a) the principal planes, (b) the principal
stresses, (c) the maximum shearing stress and the

corresponding normal stress.
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2. TRANG THAI NG suATPHANG":
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— 1 = 30MPFa
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Bai tap 2:

Cho trang thai ing suat, xac dinh (rng suat phap va &ng
suat tiép sau khi phan td xoay (a) 25° thuén chiéu kim
déng hé, (b) 100 nguoc chiéu kim dong ho.
Problem 2:

Forthe given state of stress, determine the normal and shearing

stresses after the element shown has been rotated through (a) 25?
clockwise, (b) 10° counterclockwise.

i |

50 mim — -—

Bai tap 3:

Hai doan [:unu mat cat naang S0x80mm dwoc dan voi nhau
thea mat {:at a-a hop voi phwong naang mot adc 250 Biét tkng
suat cho Q\[\g\g doi voi ‘phan t6 dwoc dén la o = 800kPa and 1=

~ 600kPa , Xac dinh t3 L@Ltmnq I&n nhét ctia PE&I&% tac duna.

Problem 3:

Two members of uniform cross section 50x80mm are glued
together along plane a-a that forms an angle of 25" with the
horizontal. Knowing thatthe allowable stresses for the glued joint
are o= B00KkPa and t = 600kPa, determine the largest centric load P
that can be applied.
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% 3. VONG TRON MORH (PNG SUA
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Bai tap 4:
Cho frang thai tng suat nhw hinh vé. (a) Xav dung
vong, tron Morh (g suat, (b) xac dinh (ng suat
chinh, (c) Xac dinh (rng suét tiép 16m nhat.
Problem 4:
For the state of plane stress already considered as Figure.
* (a) Construct Mohr’s circle, (b) detemine the principal
stresses, (c) determine the maximum shearing stress.

Bai tap 5:
Cho trang thai émg suat nhu hinh v&. (a) Xac
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100 MPa

dinh mat chinh va trng suét chinh, (b) Xac dinh
cac thanh Eha (rng suat cua phan to khi quay
phén t6 30° nguoc chiéu kim ddng hé 3 hé.
FProblem 5:

For the state of plane stress shown, determine (a) the
principal planes and the principal stresses, (b) the stress
components exerted on the element obtained by rotating

the given element counterclockwise through 30°.
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